Final Review

Chapters 7 – 10 Jeopardy
Regular

Chapter 7:  Systems of Equations and Inequalities

200:  Solve by graphing:  
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(4, 6)

400:  Solve by substitution:
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(5, -8)

600:  Solve by elimination:
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(7, 6)

800:  Solve by the method of your choice:






[image: image7.wmf]2

2

16

-

=

+

-

y

x







[image: image8.wmf]1

8

-

=

x

y






(infinite sol)

1000:  Solve the system of inequalities:
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Chapters 8 and 11:  Exponents/Radical Expressions
200:  Simplify:  
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400:  Simplify:  
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600:  Simplify:  
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800:  Simplify:  
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1000:  Simplify:  
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Chapter 9:  Polynomials and Factoring
200:  Solve:  
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400:  Solve:  
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600:  Factor completely:  
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2(r – 10)(r +6)
800:  Solve:  
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-14, -3
1000:  Solve:  
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Chapter 11:  Radicals and Pythagorean Theorem
200:  Simplify:  
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400:  Find the missing length:  b = 5, c = 10
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600:  Simplify:  
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800:  What is the distance between the points (0 , 3) and (4, 0)?

5 units

1000:  
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